ABIFAL SR

out IN

GROSS

HDGP

NET

1% B M ZER #2137 | 78] 9.0/ 69.0
=12 5 lJ\fIE% J}:EA 36 41 77 7.0 70.0
L KEF 39| 40 79 8.0 71.0
A2 IFR %"é«k 45 39 84/ 12.0/ 72.0
ofi EJI[ A 17 43 39 82/ 10.0 72.0
6451 %[7':: :.~,- 8 43| 39 82 10.0 72.0
5 M4E HE 37 38 75 3.0 72.0
8L & f;;z 40 42 82 10.0 72.0
O ARER BEtH 38 41 791 7.0/ 72.0

,,,,,,, 106 HIS % 43| 41 84 11.0 73.0
112 |k KRA 40| 41 81 8.0 73.0
12431 1‘ N/ iC 39/ 42 81 8.0 73.0
136 | =H 12 45 41 | 86/ 12.0 74.0
1452 & FA 39/ 38 77 3.0/ 74.0
156 ZEiR B—ER 40 40 80 6.0/ 74.0




Af#HBY X

out IN

GROSS

HDCP

NET

1= hE 5= 44 43 87 25.0 62.0
—%EH% ERRK £ 39| 42 81 15.0 66.0
R N 44/ 48/ | 92 26.0, 66.0
44if b A 45 44 89 21.0 68.0
ofi B FE 47 43 90| 21.0' 69.0
6fii & | P 43 41 84 15.0 69.0
M e g 45 46 91, 22.0 69.0
8{i MOpE E— 44/ 46 90| 21.0 69.0
O BAR Eth 48| 40 88 18.0 70.0
102 &% #R9h 51 46 97 27.0 70.0
116 B & 4444 88/ 18.0 70.0
1260 finitx F|z 46| 48 94 24.0 70.0
136 TiHEA % 48138 | 86 15.00 71.0
144 /NE Fts 47 44 91 20.0 71.0
15 | fHH6 1EA 43| 42 85 14.0 71.0




BHIHFLTF1—R ouT  IN GROSS  HDGCP NET

= B e BF 40| 44 84 18.0/ 66.0

gl TP JL= 38 37 75 8.0, 67.0
M A FH 36, 35 711 3.0/ 68.0
M XKe =HY 37| 37 74 50 69
ofi fall #fm 42044 | 86 17.0 69.
6{iL | F 39 38 17 6.0 71
i T M 37 40 77 6.0/ 71.
8 B‘E =3 35 41 716 4.0 72.
L =8 FTHEF 48 40, | 88/ 15.0 73.
104s2 de)l =EF 43| 37 80 7.0 73
1 B8 =8Y 40 42 82| 9.0 73.
1261 fERK BH 42| 38 80 6.0 74.
136 EHE BEH 39 43 82/ 6.0 76.
1446 7K EHIT 49| 47 96 19.0 77.
1560 |ft#E —K 50 531 |103] 26.0! 77.




